Ky6 cyMMbl 11 pa3HOCTU
1)(111) xN3 + 3xN2y + 3y"2x + y"3 = ...
2)(111) x"3 — 3xN2y + 3xyN2 — y"3 = ...

XN3 + 3XN2y + 3y"2x + yN3 =
(X3 + yN3)+(3xN2y + 3yN2x)=
(X+y)(XN2-xy+yN2)+3xy(x+ y)=
(X+Y)(XN2-xy+yN2+3xy)=
(X+yY)(XN2+yN2+2xy)=
(X+y)(x+y)"2=(x+y)"3

XN3 — 3XN2y + 3xyN2 — yN3 =
(X3 =y "3)+(3xy"N2-3xN2y)=
(X-y)(X"2+xy+y"2)-3xy(x-y)=
(X-y)(x"2-2xy+y"2)=(x-y)(x-y) 2=
(x-y)"3

50-60 ble roabl

13 06bIYHOW WKONbI NOCTyNnTL B MY
eCTb Takasi Hayka - MaTeMaTunka BCTYNUTESNbHbIX 9K3aMeHOB
(6paTb B3ATKM, NUANTL BIOLKET...)



